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(s)ls Comprehension

You are going to hear a talk about universities and colleges in Britain. As you listen to the
talk, complete the notes below by writing NO MORE THAN THREE WORDS in the spaces
provided.

There are 1) universities and 2) polytechnics in the UK. In 1973-
1974, there were over 3) full-time students in universities. 10% of them were
from 4) . University first degree courses usually last three or four years. The
academic year normally has 5) terms, beginning from 6) . You
should apply to a university at least 7) months before the proposed date of
admission.

When you have filled in your application form you must send it to 8) . If you
want to enter Oxford or Cambridge University, you should remember to return your
application by the closing date, in 9) . The usual minimum qualifications for entry
to a first degree course in a university are good passes in the 10) oran

11) examination. All enquiries should be accompanied by a copy of the

12) certificate and where appropriate an approved translation.
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You are going to hear a talk on Canada. As you listen to the talk, complete the notes below
by writing NO MORE THAN THREE WORDS in the spaces provided.

Canada is located in the northern half of the continent of 1) . The most northern
parts of Canada are called the land of 2) because at certain times of the year the
sun 3) . This northern part of Canada is cold and mostly 4) with
snow all year round. The original people in the northern part of Canada are called

5) . They are also called the "First Nation". The populations in the Atlantic
provinces of Nova Scotia, Newfoundland, New Brunswick and Prince Edward Island are

6) . The land there is not very fertile so their main industries are forestry,

7) and mining. The province of British Columbia is in the 8) of
Canada and is an attractive place for 9) because of its mild climate, mountains,
seacoast and 10) . The original settlers came from 11) In the 16t
century, the first Europeans arrived in 12) Canada. They came from

13) . By the end of the 14) all of Canada was under British rule. In
this century, Canada has had an influence of settlers from all 15)
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You are going to hear a conversation between two students. They are talking about the
English bars. As you listen, complete the notes below by writing NO MORE THAN THREE
WORDS in the spaces provided.

Bar is the place where 1) are kept. At the bar, people don't wait for someone to
take 2) , instead, they go to the bar directly to 3) their drinks. They
pay as soon as they 4) . It's not the custom to give 5) . When you
want to have another drink you ought to take your 6) back to the bar for refill.
You can get 7) alcoholic and non-alcoholic drinks in the bar. Alcoholic drinks
include beer and wine. Cider is made from 8) , port is a type of 9)

wine from Portugal, and sherry is a type of wine from 10) . Spirtis are a kind of
11) drinks. Non-alcoholic drinks include all kinds of fruit juices, such as orange
and 12) Soft drinks are sweet drinks made with 13) . Cordials are
strong and sweet drinks tasting of 14) . VAT stands for 15) Tax. VAT
can be 16) to you if you take the goods with you when you leave Britain.
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You are going to hear a talk about the English pubs. As you listen, complete the notes below
by writing NO MORE THAN THREE WORDS in the spaces provided.

There are 1) different methods of serving beer in Britain. Some beer is

2) and draught beer is a kind of beer that comes from 3) . There are
two different methods of serving draught beer. Keg beer is served with modern method
which uses 4) and traditional draught uses 5) to pull the beer up the
pipe and out of the tap. Keg beer is sold almost 6) in Britain, and you can always
have exactly 7) in any pub. Traditional beer is not served 8) but
allows you to taste 9) . Lager is served cold and available in 10)

Guinness is a thick, almost black, bitter tasting 11) beer. Pale ale is less strong
and 12) than bitter. The pub's opening limes are regulated by 13)

and usually a pub is open from 14) and from 5:30 to 11:00. 15)

forbidden in pubs. Children are 16) to enter pubs according to the law.
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Complete the notes below by writing NO MORE THAN THREE WORDS in the spaces provided.

Julia feels guilty. She knows that most chocolate has a lot of 1) but she can't
stop eating it because she is 2) to it. Chocolate is a 3) food for the
people all over the world. They spend over 4) on it for Valentine's Day. The idea
of eating chocolate started in 5) . Before that, the Aztecs drank bowls of
chocolate to 6) . When chocolate was brought to Spain people thought it was

7) because it tasted bitter. Soon people discovered that 8)

chocolate with sugar made a wonderful drink.
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